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INSTRUCTIONS
All questions are of objective type having four answer options for each. Only one option is

correct. Correct answer will cary full marks 2. In case of incorrect answer or any
combination of more than one answer, Y2 mark will be deducted.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked
A,B,CorD.

Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.

Mark the answers only in the space provided. Do not make any stray mark on the OMR.

Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your full signature
in appropriate boxes in the OMR.

The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for
question booklet number/roll number or if there is any discrepancy in the name/signature of
the candidate, name of the examination centre. The OMR may also become invalid due to
folding or putting stray marks on it or any damage to it. The consequence of such invalidation
due to incorrect marking or careless hanﬁ}i-ng .h. tp\? will be sole responsibility of
candidate. - E . (‘J o e

Candidates are not a@ﬂr ;n'y any written or printed material, calculator, pen,
docu-pen, log table, wristwatch, any communication device like mobile phones etc. inside the
examination hall. Any candidate found with such items will be reported against and his/her
candidature will be summarily cancelled.

Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

Hand over the OMR to the invigilator before leaving the Examination Hall.

This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final.
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Which of the following modification of leaf occurs to inhibit water loss in arid zone 7
1. Leaves become hard and waxy

2.  Leaves become tiny

3, Leaves become drip - tip

4. Leaves become thorn

(A) 1,2and3 (B) 2and3

(C) 1,2and4 (D) land 4

we Sl UTAY WOBY [ENE WA MER TR, Fye @ W w60 2

I oMl @& § THRE o 7 T

2. oSl FuRe T

3, OH (O WEE A S a9 HeffE e zv
4, oS oW 7T T

(A) 1,283 (B) 283

(C) 1,284 (D) 184

The plants grown on ET climate are known as

(A) Microtherms (B) Xerophytes
(C) Hekistotherms (D) Li \ihytm
ET Wermgrs wrmy «w Sememiie 3w {-\?

(A) WERTEFITE - e *-a!;

(C) RO ,-L’rﬁ W~ (D) fArere@s=

Which of the following causes adiabatic temperature changes in atmosphere ?
(A) Convection and advection of heat

(B) Latent heat of condensation

(C) Expansion and compression of air

(D) Partial absorption of solar radiation by the atmosphere.

AT @R IR T FEO AT TYRSTER SR ARG Wb 0
(A) IR *fisem ¢ Sqgfas Fwwm

(B) WASARR At

(C) WO MIIBA § AR

(D) INeH F$E O Rfwwrw mﬁw Lilh g
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Collision - Coalescence process of raindrop formation is applicable to
(A)  those clouds which do not extend beyond the freezing level

(B) those clouds which extend beyond freezing level

(C) all types of cloud

(D) cumulonimbus cloud

RUARS I U S R S —
(A) mmﬁmwmwmm
(B) T¥R W s $vra s = pirwta
(C) 1 @9 raww rogm

(D) mqmmwwmmm

The circulation of atmospheric heat energy along horizontal and vertical plane in tropical
belt is well illustrated by

(A) Rossby Waves (B) Walker Cells
(C) Jet Stream (D) Hadley Celis

mﬁumwwﬁwa@mmmmmwmﬁ

(A) T saw s (B) TF0E W=
(C) &b ays ®) T TR

Which one of the following is the time }q@gﬂ for the earth to return to a given point in
its orbit with reference to fixed star Te y

(A) Lunar year .f‘ » (B) Solar year

(C)  Tropical year - '\' (D) Sidereal year
mﬁmmw.fgwmmﬁ'mmmmm
TH oy &Y Ors 3+ Ty

(A) Mg Fe7m (B) UM 3w

(C) wiw aewmwm (D) =row aewg

The happening of “Equinox” twice in a year is due to

(A) rotation of the Earth on its OWn axis,

(B) circular motion of the Earth and inclination of its equatorial plane with orbital plane
at 23.5° angle,

(C) apparent annual march of the sun and its elliptic

(D)  gravitational pull of the earth.

| TR @ WA I 7w

(A) For wrwe som ofudy sy

B) W qorw o> g2 a3 TwerEm W Fedy v 23.5° fofyy waCer g
(C) T were A oy s ofmd

(D) R wfosd o
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8.  Inthe summer solstice interception of sunrays on the tropic of Capricorn is an angle of

(A) 23.5 degree (B) 66.5 degree
(C) 43 degree (D) 0 degree
30 RTMC TIFM FR TRER %7 @79 T -
(A) 2357 (B) 66.5 %%
(©) 43 fofy (D) 0 fofH
9.  Obsequent streams generally flow
(A) Along with the consequent stream. (B) Opposite to the consequent stream

(C) Atright angle to the consequent stream (D) Diagonal to the consequent stream.
e 7@ RIS gafee z -

(A) SRR T SfEa (B) wpmd WA ferdhe wfewre
T A Y S (D) sl A fofs sfeye

10. Formation of Potholes in river beds is the result of the hydraulic process of

(A) Saltation (B) Attrition

(C) Corrosion (D) Corrasion

TACF TEFH T5H [ HAAE AR T

(A) FBHH (B) W

(C) W (D) waes
11, The watershed between India and Myanmar is delineated by

(A) The Garo hills (B) The Naga hills

(C) The Khasi hills (D) Th ?ﬁa hills

TES ¢ WA LT FA mﬁrm W m&

(A) ITE TS v e (BT S oeMETE

©) w4 s C}‘ ' D) wHEW TS
12. Natural levees are generally formed due to

(A) Valley widening (B) The recurrence of floods

(C) Construction of embankment (D) Fluvial process of erosion and deposition,

0 FRE WA ST Y AR T 74 ©f &7 -

(A) T TR eRBERe (B) Frfre T e wfes zsw

(C) 4y fada (D) a2 Wy § Hey s
13. The second largest brackish water lake or lagoon of India is

(A) Muthupet (B) Cherai beach lagoon

(C) Sriharikota (D) Pulicar lake

erres Tl J2ew WeR-FRNE wEE ZW A ToRH T

(A) o (B) THAE q6 To@m

(C) EefRrn (D) *ferat gw
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Which one of the following sequences of sea salinity in the increasing order is correct ?
(A} Gulf of California — Baltic Sea — Red Sea - Arctic Sea
(B) Baltic Sea - Arctic Sea - Gulf of California — Red Sea
(C) Arctic Sea - Baltic Sea - Gulf of California — Red Sea
(D) Arctic Sea - Gulf of California - Baltic Sea - Red Sea

AYHT FRATSR TR S NG (3 S@Fao Aow ¢

(A) FfECelm Sepmem - b A - (FRS A - s AW

(B) AGw sz - Arw Ao - Inferefm Topme - Efre AR

(C) uF A - AF6T o7 - el Bepmerg - Ffee Ao

(D) % AF - e Sopmerz - AFdE Ao - TS AR
\

Kuroshio is a warm ocean current which runs Fmﬂ ‘%‘h

(A) Philippines to Japan (B} ;' China to Japan

(C) Indonesia to Japan #. D) Philippines to China
% Frats g el safke w '

(A) Fofeores s £ (B) 7 tace e
(C) Wﬁmwmﬁ'ﬁ;‘ (D) fafeengs tare =
The pass located at the southern end of the Nilgiri Hills in South India is called
(A) The Palghat gap (B) The Bhorghat pass
(C) The Thalghat pass (D) The Bolan pass
Aefifa odroa whsa Faan w2y s am =

(A) et (B) TERNG

(C) <=l (D) T

Which one of the following mountain ranges is unique in origin with respect to ocean -
continent convergent plate boundary ?

(A) Himalaya (B) Rockies

(C) Kunlun (D) Aravalli

vz @R AfeuE TEE ey SERd e M ofrefere SeefEreeia
e 7

(A) fewem (B) #®

(C) FFH (D) wfE
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18. Due to the nature of erupted materials the vents of *The Valley of Ten Thousand Smokes’
in Katmai mountain is known as

(A) Cinder Cone (B) Crater

(C) Saffioni (D) Fumarole

Tefry mda #3f7 FImUT FWWE *(ST ‘The valley of Ten Thousand smokes’ €9
el 4 -

(A) o= g (B) WY

(C) “mfErsH (D) feEaE=

19. Which one of the following landforms is not associated with wind erosion 7

(A) Zeugen (B) Yardang

(C) Mesa (D) Seif

M shmefm @R TEE FEIER NHF TE T

(A) farerm (B) Euwmie

(C) T (D) Wy aferfd (Seif)

20. In a fault when hanging wall lies as upthrow side it is called

(A) Reverse fault (B) Gravity fault
(C) Lateral fault (D) Under thrust
@A TS I P TECWRHT TR FAA OO I -
(A) frers Bf (B) weae e
© i s o, e
21. Which of the following lm'&f?%isﬁe E;nzd:;ml igneous intrusion 7
1.  Lopoelith 2. Batholith 1. Faecolith 4, Sill
(A) land2 (B) 1,2and3
(C) 2and4 (D) 1,3and4
Apz Shmeehr W ERef s Wy S
1. TErenEe 2. e 3. BT 4. B
(A) 182 (B) 1,283
(C)y 284 (D) 1,384
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Lehmann discontinuity separates

(A) Upper mantle with lower mantle (B) Crust with mantle
(C) Outer core with inner core (D) Mantle with core
W e e IEE

(A) R SFWS(FR WF AL oFAGAT
(B) SFAS(HI FX TIIF

(C) o FHYSHE A I FHICAD
(D) TFHISET AKX GFISAS

The industries able to reduce their production cost through external economics. are
generally located in -

(A) Least transport cost area (B) indu,ilal agglomeration area

(C) Labour cost saving area {D] area
mmﬁﬂaﬁ'ﬂwmmmmm AP ¥35 FACS W TY OPA e
YRS MH ST - RO ™

(A) ‘ﬂﬁaﬂﬁmwm .“.'_;:""'{Bm fireer U™ GEITH
MWWWW (D) AW G

Which of the following are the :::harm.lenslm of second stage of Demographic Transition
Model ?

1.  Low death rate and uncontrolled birth rate

2. High death rate and low birth rate.

3. Equal birth and death rate

4.  Prevalence of Demographic Trap

(A) land4 (B) 2and3

(C) 23and4 (D) 1,3and4

Apz @ B wfady werER T8y orfuee Feer w0

1. fry gomEm o wfFEe oEe

2. s oz ¢ My umEe

3, W YIER & GHEd

4, FEWAT WA TOEE

(A) 184 (B) 283
(C) 2,384 (D) 1,384

Which of the following is the scale of toposheet (Open Series) no, G45A107
5w @M wEM G4SA10 792 BrPMGE (Open Series) ¥ T 7

(A) 1: 1,000,000 (B) 1:250,000

(C) 1:50,000 (D) 1; 25,000
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BASIC SCIENCE

26. A boy starts running with a speed of 1 /s from a corner of a square of sides 20 m along
its periphery. What will be his displacement after 35 second ?

gFEH IwE g3 20 m e AR e Wi 9T @ e e R we |
m/s §fSTS TSI o% F9¢ | 35 second *I(A TE A9 T 773 7

(A) 40m (Bl 25m

(C) 35m (D) 50m

27. A cube of wood of sides 10 ¢m is floating on water. How much weight must be placed on
the wooden piece to make it on the verge of sinking ? (Consider density of wood 0.9 g/cc.)

10 cm 9E 8 <3f6 IS =7 ww oo | feraM Bem e Io cwmz W
A AT PR AW TTFT TA 7 (WF F9 AT WY 0.9 glec.)

(A) l1g (B) 10¢g

€) 100g (D) 1000 g

28. Water bubbles are always spherical in shape; it never takes any other shape. Which
physical property of water is responsible for this ?

(A) Surface tension (B) Viscosity
(C) Elasticity (D) Specific gravity

AR T WL DA T W (R WA 1Y A | W @ ST o 93 e
Wit ¢

(A) opbm | (B) rHel
(€ fefegeee (D) ,_’, 7
. I \
29. What is the volume of 2 g of uxqu.ﬁﬁﬁrﬂiﬂr? and temperature 7
(A) 1.4 litre Gy 7 B 28
(C) 224 litre (D) 0.7 litre
AW BT ¢ T 2 g WHWET WS IS ¢
(A) 14f0R (B) 2.8 f0m@
(C) 224 fF6R (D) 0.7 f&o=

30. The solubility of common salt in water at 100 °C is 40. Approximately how much
common salt is required to make 100 g of saturated solution at 100 °C ?

100 °C-q &TA FUET FATE TIT01 40 TH 6% T 100 g FITF FIT (O UG
U TEH] FYRT FIN A ?
(A) 28.57¢g (B) 40g
(C) 35¢g (D) 20¢g
Geography 9
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If an atom has only three electron shells, maximum how many electrons can occupy the
third shell ?

T NS W TG A TN I O R o gy I 4 Foel
IR OIS M ?

(A) 2 (B) 8
(C) 18 (D) 32

A body of mass m is thrown vertically upward from the Earth's surface with an initial
velocity u. At what height, magnitudes of its kinetic energy and potential energy will be
same ?
n SET 93 W@ T EF u @O OIE B S T IS Twen U R
s ¢ fEfeefers = = T3 ?
4u?
g

£ b
(A) 2l (B)

) 4 &
(C) il *.’1.3:‘]_l 2
£

How much heat is required to melt 100 gef i{:‘é"!‘ept at 0 °C into water and fully convert it
into steam ? (Latent heat of melting® ‘we, specific heat of water and latent heat of
vapornization of water are mspecgivd)?@o::wg. | cal/g °C and 540 cal/g)

0 °C Twer A zmgm‘ﬁ@t\rwﬁmmw o SITe e ?
(mﬂammwmmwammmﬂmw 80
cal/g, 1 cal/g °C and 540 cal/g)

(A) 72 keal (B) 10 keal

(C) 18 keal (D) 64 kcal

100 g of ice at — 20 °C is taken in a pan and heated on a 1000 W electric heater. How much
time it will take for the water to start boiling if water equivalent of the pan is negligible ?

—2nﬂcw1mgmaﬁmﬁm1mwmmmmm
FATH | AT TETH A (A 9% WA WES oA IF WS IO AW AMA?
(A) 1 min 15 sec (B) 42 sec

(C) 1 min 24 sec (D) 24 min | sec

A sealed vessel contains some gas at normal pressure and temperature. What will be the
pressure of the gas at -273 °C ?

MHWWWWWHﬂﬁmWWﬂlmmﬁ-HS
SO T W ST AT B I TA?

(A) OPa (B) 273 Pa

(C) 546 Pa (D) 136.5Pa

Geography 10 A
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36. How many hydrogen atoms are there in 2 £ of methane gas ?

2 g frem it Fwels wrtmmes R AT 7
(A) 6022 x10% (B) 3011 x 1020
(C) 9033 x 1020 (D) 6022 x 1023

37, A vessel is filled to the brim by a liquid. It is observed that the vessel always remains filled
to the brim even if it is heated or cooled. What is the coefficient of real expansion of the
liquid if the coefficient of linear expansion of the material of the vessel is ‘q’ 7
mwmmqﬁwmwwmlmvﬁ s Tos a1 e
FAES T Y W o] e | MIH TR DT opimad oM o TrH %

(A) «a (B) w2
(C) 2a (D) 3a

38. A thermally insulated room has only one square glass window of sides Im and thickness
5 mm through which heat can transfer in and out, If temperature difference between inside
and outside the room is only 1°C then what will be the rate of heat transfer ? (Thermal
conductivity of glass is 0.0025)

(A) 1Js (B) {l.Sst,q_n_J
e U3
(© 10 D) kst
DR

e'avid and 8 cm away from the pole in front of a

39. If a small pencil is held verti g.
, the image will be :

concave mirror of focal length

(A)  virtual, erect and magnified.
(B) virtual, inverted and magnified
(C) real, erect and smaller in size
(D)  virtual erect and smaller in size

mcmwmqh#rﬁﬁflm“mﬁmmmwscmmmtm
WWWWMWMW:

(A) =, e ¢ fafde
(B) =W, wai§ g faeftfe
(C) ™, T s wroy
(D) =W, ¥ME s waey
Geography 11
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|
As shown in the figure, a ray of light coming from air is incident on a parallel glass slab at

an angle of 32° and emerges from the other side at an angle of 6. What is the value of Bif
refracting index of glass with respect of airis 1.5 7 .
e fBram o I AT I AY MW W GO GF0 AIIA IEF FAEE
qafrE 320TaN Wefew TH g B0 e e o e fdfe TE | Ay e
52 AT 1.5 A 0-97 W IS ?

(A) 32° (B) (‘E\{

€ 72° B LER

A parallel beam of light falls on a cnnver‘[;ni-‘l? focal length 15 cm along its axis. The
emerging rays falls on a concave lens ¢f focel length 5 cm kept 10 cm behind the convex
lens, Then which of the following tateyn¥nts 1s true about the rays finally emerging out of
the concave lens ?  si" 8

(A) The rays will be divcrgpj '

(B) The rays will be converging

(C) The rays will be parallel

(D) The rays will be a mixer of all three above types.

G TumEE Ipese 15 om R (g R gel Ted wrew TR FUUW W
e wefes T @@ 10 cm PR T WR BT S om RE G (R wwe
TR o WeT T | O e A uE ffe siw sy e Ane
@R & 7o ?

(A) W FMpese TR TR

(B) wiEW pese SfEHA T2

(C) wiEw o FARAE 203

(D) wRw Ffese Beew fom ware PR R e

100 J work need to be done to move a 1/10 C charge from point A to point B in an electric
field. What is the potential difference between the two points and which point has higher
potential 7

T @z ofsersae W 9a® 1/10 C WeEe A W e B et it
IMJmmﬂlmﬂﬁﬁﬂawﬁwmﬁwmmﬁwﬁm

=7
(A) 10V,B (B) 1000 V. A
(C) 10V, A (D) 1000V,B

Geography 12
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10 0
A
2002 100
e Bl
10Q
What 15 the equivalent resistance of the circujt shown at its terminals A-B?
e emffe aedpy E T# 3y = g
(A) 40Q (B) 10Q
C 20Q (D) 15Q

Which of the following statemen;s 1S correct 7

The ‘y" rays emitted by radioactive atoms is basically .
(A) emission of heljum atoms " ..-ﬁ,'l
(B) emission of electrons il L.

(C)  emission of neutrons wr

(D) emission of energy onl "'; A
SUGRL G i cr e 'y o e
(A) feferm smmqz e

(B) ¥ itww Mo

(C) Mt frway
(D) oy =feg fMysge

A7
(A) 245¢ (B) 1225¢
(C) 8167g (D) 1633

Geography 13
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In industrial production of ammonia from nitrogen and hydrogen gases, a mixture of
potassium oxide and aluminium oxide is used for the purpose of:
(A) producing required heat (B) activating the catalyst
(C) avoiding explosion (D) acting as catalyst

FEGHEH ¢ TECEIE N T I Free s SeemeEe o oo SR
o ST wwEes e qREw ¥ 7w THen e

(A) SEmER O SR o (B) weEbraw TR e
(C) frerd gerR w0 (D) wFEeE BT
H H

N W

Which compound is indicated by the structure shown ?

(A) Methane (B) Ethane
(C) Ethylene (D) Pripane
o 5 REESD (@R CAE Ao w4

{4
(A) fes . ;‘ﬁ Risg
(C) Effem A (D) wm

-
[ N

Bio gas contains mainly (:- s
ACUICA ACF TS

(A) CO,andCH, (B) N,andCO,
(€) N,andCH, (D) CO,andO,

Presently, use of alternative source of energy (like solar energy) is encouraged more than
use of fossil fuel, mainly because

(A) Fossil fuel is costlier (B) Fossil fuel reserve is limited

(C) Calorific value of fossil fuel is less (D) Fossil fuel cannot be imported

TS Ty gz R Wl g (trw CReE) IR AR TS
T, I T

(A) GHeg e A (B) Grareg gy e A

(©) G G TR W WEE FW (D) G ge S 9 W A
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